					Engineer's Estimate		UCL Inc.	
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Unit Price	Extension
	Bid							
1	Documents	HAP Wash Water Tank Imp's	1	LS	\$579,500.00	\$579,500.00	\$345,000.00	\$345,000.00
2	01 20 00	Welding	300	LF	\$24.00	\$7,200.00	\$150.00	\$45,000.00
3	01 20 00	Patching	700	LB	\$3.65	\$2,555.00	\$40.00	\$28,000.00
4	01 20 00	Lead Sequestering Additive	1	LS	\$10,000.00	\$10,000.00	\$28,000.00	\$28,000.00
	SUBTOTAL:				\$599,255.00 \$446,0		\$446,000.00	
CONTINGENCY (15%)				\$89,888.25 \$66,900		\$66,900.00		
GRAND TOTAL:				\$689,143.25		\$512,900.00		
% DIFFERENCE FROM ENGINEER'S ESTIMATE						-25.6%		
	% DIFFERENCE WITHIN LOWEST BIDDER						N/A	
Contract Compliance No.						31-1697362 (exp. 2/21/19, MAJ, 581		

1. asking Surety 2000 for POA

UCL, Inc. 2025 Stapleton Ct. Cincinnati, OH 45240 Pete Kontopos, President (513) 674-1666 <u>unitedpainting@fuse.net</u>

					Engineer's Estimate		A1 Industrial Painting Inc.	
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Unit Price	Extension
	Bid							
1	Documents	HAP Wash Water Tank Imp's	1	LS	\$579,500.00	\$579,500.00	\$420,000.00	\$420,000.00
2	01 20 00	Welding	300	LF	\$24.00	\$7,200.00	\$100.00	\$30,000.00
3	01 20 00	Patching	700	LB	\$3.65	\$2,555.00	\$100.00	\$70,000.00
4	01 20 00	Lead Sequestering Additive	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	SUBTOTAL:					\$599,255.00 \$530,00		\$530,000.00
CONTINGENCY (15%)					\$89,888.25 \$79,500		\$79,500.00	
GRAND TOTAL:				\$689,143.25		\$609,500.00		
% DIFFERENCE FROM ENGINEER'S ESTIMATE							-11.6%	
% DIFFERENCE WITHIN LOWEST BIDDER						\$0.19		
Contract Compliance No.						26-3962924 (exp. 7/19/19, MAJ, 22427		

A1 Industrial Painting Inc. 894 Coitsville Hubbard Rd. Youngstown, OH 44505 Jack J. Maillis, President (330) 750-9441 jackmaillis@aiindustrialpainting.com Dennis J. Billec, Office Mgr.

					Engineer's Estimate		The Righter Co., Inc.	
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Unit Price	Extension
	Bid							
1	Documents	HAP Wash Water Tank Imp's	1	LS	\$579,500.00	\$579,500.00	\$561,000.00	\$561,000.00
2	01 20 00	Welding	300	LF	\$24.00	\$7,200.00	\$50.00	\$15,000.00
3	01 20 00	Patching	700	LB	\$3.65	\$2,555.00	\$20.00	\$14,000.00
4	01 20 00	Lead Sequestering Additive	1	LS	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00
SUBTOTAL:					\$599,255.00 \$591,0		\$591,000.00	
CONTINGENCY (15%)				\$89,888.25 \$88,6		\$88,650.00		
GRAND TOTAL:				\$689,143.25		\$679,650.00		
% DIFFERENCE FROM ENGINEER'S ESTIMATE							-1.4%	
% DIFFERENCE WITHIN LOWEST BIDDER						\$0.33		
Contract Compliance No.						31-0889208 (exp. 1/19/20, MAJ, 4433		

The Righter Co., Ind 2424 Harrison Rd. Columbus, OH 43204 Bradley R. Nadolson, President (614) 272-9700 brad@rightercompany.com

					Engineer's Estimate		American Suncraft Co., Inc.	
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Unit Price	Extension
	Bid							
1	Documents	HAP Wash Water Tank Imp's	1	LS	\$579,500.00	\$579,500.00	\$875,450.00	\$875,450.00
2	01 20 00	Welding	300	LF	\$24.00	\$7,200.00	\$150.00	\$45,000.00
3	01 20 00	Patching	700	LB	\$3.65	\$2,555.00	\$69.80	\$48,860.00
4	01 20 00	Lead Sequestering Additive	1	LS	\$10,000.00	\$10,000.00	\$29,920.00	\$29,920.00
	SUBTOTAL:			\$599,255.00 \$999		\$999,230.00		
CONTINGENCY (15%)			\$89,888.25 \$149,88		\$149,884.50			
GRAND TOTAL:				\$689,143.25		\$1,149,114.50		
% DIFFERENCE FROM ENGINEER'S ESTIMATE						66.7%		
% DIFFERENCE WITHIN LOWEST BIDDER						\$1.24		
Contract Compliance No.				31-1286248 (EXPIRED, MAJ, 4		PIRED, MAJ, 4976)		

*Corrected contingency & grand total.

General Info									
Number:	690512-100000 HCWP Wash Water Tank Improvements 2018-04-25 19:00:00 UTC								
Description:									
Deadline:									
D'1									
Bids									
Business	Bid Total	Submitted at Signed by	Opened at						
ucl inc	\$512,900	0.00 2018-04-25 15: pete kontopos	2018-04-25 19:03:01						
a1 industrial painting inc	\$609,500	0.00 2018-04-25 17: JACK MAILLIS	2018-04-25 19:03:21						
The Righter Co., Inc.	\$679,650	0.00 2018-04-25 18: Bradley Nadolson	2018-04-25 19:03:40						
American Suncraft Co., Inc.	\$1,149,114	4.50 2018-04-25 15:(Lisa Boling	2018-04-25 19:02:54						

1

T